
Red  
 

1)  320 - 10 =  
 

2)  458 - 34 = 
 

3)  565 - 80 =  
 

4)  436 - 102 =   
 

5)  645 - 257 =  
 

6) 409 - 124 =  
 

7)  Miss Forge had 311 cat treats. Her cats ate 129. How many cat treats are 
left? 
 

8)  Pim has 982ml of water in a jug. He poured out 400ml. How much liquid is in 
the jug? 

 
 
Yellow 

1) 645 - 257 = 
  

2) 409 - 124 =  
 

3) 630 - 290 =  
 

4) 395mm - 108mm =  
 

5) 675kg - 239kg =  
 

6) Mr V has 452 jellybeans. He gave his friend 84 jellybeans. How many rocks 
does Pim have now? 
 

7) Mully made a pile of 802 cookies. He took away 147 cookies from the pile. 
How many are in the pile now? 
 

8) Miss Rolfe has to run 600km. So far she has run 138km. What is the total 
distance she has to go? 

 



 
Green 
  

1) 395mm - 108mm =  
 

2) 675kg - 239kg = 
  

3) Mully made a pile of 802 cookies. He took away 147 cookies from 
the pile. How many are in the pile now? 
 

4) A train journey normally takes one hour and forty minutes. On one 
day the train is delayed and the journey takes two and a quarter 
hours. How much longer is this than the normal journey time? 
 

5)  

6) I put 621g of sweets on the weighing scales. I then took away 
386g. What is the weight on the scales now? 
 

7)  The Sahara trek is a total of 225km. I walk 45km each day. I have 
walked for 3 days.  

a) How many km do I have left to walk?  
b) How many days will this take me to walk the rest?  
c) How many days will it have taken me altogether?  

 


